
78 
 

74

.

.
 

𝒚 =  𝐬𝐢𝐧 𝜽𝒚 =  𝐜𝐨𝐬 𝜽

{𝒚| − 𝟏 ≤ 𝒚 ≤ 𝟏}

𝟏

𝟑𝟔𝟎
 

𝒚 = 𝒂 𝐜𝐨𝐬 𝒃𝜽
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𝒚 = 𝒂 𝐬𝐢𝐧  𝒃𝜽
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https://youtu.be/3q9jyz_kpHQ
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 =  | 𝟏| = 𝟏 
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𝒚 = 𝐭𝐚𝐧 𝜽
{𝜽| 𝜽 ≠ 𝟗𝟎° + 𝟏𝟖𝟎°𝒏 , 𝒏𝝐𝚭}

90°270

𝟏𝟖𝟎
 

𝒚 = 𝐜𝐬𝐜 𝜽𝒚 = 𝐬𝐞𝐜 𝜽𝒚 = 𝐜𝐨𝐭 𝜽

{𝜽| 𝜽 ≠ 𝟏𝟖𝟎°𝒏 , 𝒏𝝐𝚭}{𝜽| 𝜽 ≠ 𝟗𝟎° + 𝟏𝟖𝟎°𝒏 , 𝒏𝝐𝚭}{𝜽| 𝜽 ≠ 𝟏𝟖𝟎°𝒏 , 𝒏𝝐𝚭}

{𝒚|𝟏 ≤ 𝒚 ∨   𝒚 ≤ −𝟏}

𝟑𝟔𝟎𝟏𝟖𝟎
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𝐲 = 𝐜𝐬𝐜
𝟑
𝟒

𝜽
𝟑𝟔𝟎°

|𝒃| =
𝟑𝟔𝟎°

𝟑
𝟒

= 𝟑𝟔𝟎° (
𝟒
𝟑

) = 𝟒𝟖𝟎°

𝐲 = 𝟐𝐭𝐚𝐧
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|𝒃| =
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𝟏
𝟐

= 𝟑𝟔𝟎°

𝐲 = 𝟓 𝐬𝐢𝐧
𝟐
𝟑

𝜽|𝟓| = 𝟓
𝟑𝟔𝟎°

|𝒃| =
𝟑𝟔𝟎°

𝟐
𝟑

= 𝟑𝟔𝟎° (
𝟑
𝟐

) = 𝟓𝟒𝟎°

 



81 
 

 

 اختر الإجابة الصحيحة :  

1 
𝑦 = csc 2𝜃

Ⓐ𝟑𝟔𝟎Ⓑ𝟐𝟕𝟎Ⓒ𝟏𝟖𝟎Ⓓ𝟗𝟎

2 
𝒚 = 𝟒𝒔𝒊𝒏𝟑𝜽𝑥

Ⓐ(𝟏𝟖𝟎° , 𝟎°)Ⓑ−(𝟔𝟎° , 𝟎)Ⓒ(𝟑𝟎° , 𝟎)Ⓓ(𝟒𝟓° , 𝟎)

3 

𝒚 = 𝒔𝒊𝒏𝟑𝜽

ⒶⒷⒸⒹ

4 

𝒚 = 𝐭𝐚𝐧 𝟐𝜽

ⒶⒷⒸⒹ

5 
𝒚 = 𝟐 𝐭𝐚𝐧 𝟐

𝟑
𝜽

Ⓐ𝟓𝟒𝟎Ⓑ𝟐𝟕𝟎Ⓒ𝟐𝟒𝟎Ⓓ𝟏𝟐𝟎

 ملحق الحل فهرس الفصل 


